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The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practiable.

1. Answer any five questions : 2x5=10
(a) Write the name of two fungal soil habitat, 2

(b) Write the role of any two soil bacteria helps in

plant growth. 2

(¢) How Chitin can be degraded ? 2
(d) Write the role of any one microbial enzyme in
pathogenesis. 2
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(2)

(e) Differ between BOD and COD. 2
(f) How air sampling can be done ? 2
(g) Write the role of Rhizobium in biogeochemical
cycling ? 2

() What are pathogenesis and virulency ? 2

. Answer any four questions : SX4¥20

(a) Describe how BOD indicates the quality of
water? 5

(b) What is phosphate solubilizing microorganisms ?
Cite two example. How they helps in agriculture?
2+1+2

(c) What is aerosol and bioaerosol ? How microbes
dispersed in air ? 243

(d) Write note on (i) IPM and (ii) Frankia. 2'4+2'%

(e) State the medicinal importance of soil
Actinomycetes. 5

(f) Write about the enzymés which degrades
cellulose. 5



(3)
3. Answer any one question : 10x1=10
(2) Write about the effects of pathogens on host
physiological system ? What do you mean by

virulence factors ? Write example of any one
microbial toxin and its mode of action. 5+2+3

(b) Write the beneficial effects of Azospirillum for
plant. State the mode of action of Cry-protein.
Define PGPR. : 3E542
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